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CHAPTER - 01

INTRODUCTION TO STRATEGIC MANAGEMENT

Define strategic management. Also discuss the limitations of strategic management.
[RTP Nov. 21]

The ferm 'strategic management’ refers to the managerial process of developing a
strategic vision, setting objectives, crafting a strategy, implementing and evaluating the
strategy, and initiating corrective adjustments where deemed appropriate.

The presence of strategic management cannot counter all hindrances and always achieve
success as there are limitations attached to strategic management. These can be
explained in the following lines:

e  Environment is highly complex and turbulent. It is difficult to understand the
complex environment and exactly pinpoint how it will shape-up in future. The
organisational estimate about its future shape may awfully go wrong and jeopardise
all strategic plans. The environment affects as the organisation has to deal with
suppliers, customers, governments and other external factors.

e  Strategic management is a time-consuming process. Organisations spend a lot of
time in preparing, communicating the strategies that may impede daily operations
and negatively impact the routine business.

e  Strategic management is a costly process. Strategic management adds a lot of
expenses fo an organization. Expert strategic planners need to be engaged,
efforts are made for analysis of external and internal environments devise
strategies and properly implement. These can be really costly for organisations
with limited resources particularly when small and medium organisation create
strategies to compete.

e  Competition is unpredictable. In a competitive scenario, where all organisations
are trying to move strategically, it is difficult to clearly estimate the competitive
responses to the strategies.

Yummy Foods and Tasty Foods are successfully competing in the business of ready to
eat snacks in Patna. Yummy has been pioneer in introducing innovative products. These
products will give them good sale. However, Tasty Foods will introduce similar products
in reaction fo the products introduced by the Yummy Foods taking away the advantage
gained by the former.

Discuss the strategic approach of the two companies. Which is superior?

[RTP Nov. 18]
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Yummy foods is proactive in its approach. On the other hand Tasty Food is reactive.
Proactive strategy is planned strategy whereas reactive strategy is adaptive reaction to
changing circumstances. A company's strategy is typically a blend of proactive actions on
the part of managers to improve the company's market position and financial
performance and reactions o unanticipated developments and fresh market conditions.

If organisational resources permit, it is better to be proactive rather than reactive.
Being proactive in aspects such as introducing new products will give you advantage in
the mind of customers.

At the same time, crafting a strategy involves stitching together a proactive/intended
strategy and then adapting first one piece and then another as circumstances

surrounding the company's situation change or better options emerge-a
reactive/adaptive strategy. This aspect can be accomplished by Yummy Foods.

"Each organization must build its competitive advantage keeping in mind the business
warfare. This can be done by following the process of strategic management.”
Considering this statement, explain major benefits of strategic management.

(December 2021)

Each organization has to build its competitive advantage over the competitors in the
business warfare in order to win. This can be done only by following the process of
strategic management. Strategic Management is very important for the survival and
growth of business organizations in dynamic business environment. Other major
benefits of strategic management are as follows:

e  Strategic management helps organizations to be more proactive rather than
reactive in dealing with its future. It facilitates to work within vagaries of
environment and remains adaptable with the furbulence or uncertain future.
Therefore, they are able to control their own destiny in a better way.

e It provides better guidance to entire organization on the crucial point- what it is
trying to do. Also provides frameworks for all major business decisions of an
enterprise such as on businesses, products, markets, organizational structures,
etc.

e It facilitates to prepare the organization to face the future and act as pathfinder
to various business opportunities. Organizations are able to identify the available
opportunities and identify ways and means as how to reach them.

e It serves as a corporate defence mechanism against mistakes and pitfalls. It helps
organizations o avoid costly mistakes in product market choices or investments.

e  Over a period of time strategic management helps organization to evolve certain
core competencies and competitive advantages that assist in the fight for survival
and growth.
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"Management at all levels develop strategies”. Explain the different strategies
formulated at different levels of management.

At different levels of management, various strategies are formulated to align with
organizational goals and objectives which are as follows: Corporate-Level Strategies: At
the highest level of management, corporate-level strategies are developed. These
strategies focus on the overall direction and scope of the entire organization. Major
corporate-level strategies include Stability strategies, Growth strategies,
Retrenchment strategies and Combination strategies. Business-Level Strategies:
Business-level strategies are developed by middle-level management and focus on
individual business units or divisions within the organization. These strategies aim to
achieve competitive advantage within specific markets. Common business-level
strategies include Cost Leadership, Differentiation and Focus strategies. Functional-
Level Strategies: Functional-level strategies are formulated by lower-level management
or department heads responsible for specific functional areas, such as marketing,
finance, operations, or human resources. These strategies align with business-level
strategies and focus on achieving functional objectives. These strategies include
Marketing strategies, Financial strategies, Operations strategies, Research &
Development strategy and Human Resource strategies. In conclusion, management at all
levels develops strategies that align with the organization's goals. Corporate-level
strategies determine the overall direction, business-level strategies focus on
competitive advantage within specific markets, and functional-level strategies aim to
achieve functional objectives in support of the broader strategies.

What is strategic vision? Describe the essentials of strategic vision.

[Nov. 20]
Strategic Vision —

A strategic vision is a roadmap of a company's future - providing specifics about
technology and customer focus, the geographic and product markets to be pursued, the
capabilities it plans to develop, and the kind of company that management is trying to
create. It helps the company to answer the question "where we are to go" and provides
a convincing rationale for why this makes good business sense for the company.

A strategic vision delineates organization's aspirations for the business, providing a
panoramic view of the position where the organization is going. A strategic vision points
an organization in a particular direction, charts a strategic path for it to follow in
preparing for the future, and molds organizational identity.
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Essentials of a strategic vision

e  The entfrepreneurial challenge in developing a strategic vision is to think creatively
about how fo prepare a company for the future.

e  Forming a strategic vision is an exercise in intelligent entrepreneurship.

e A well-articulated strategic vision creates enthusiasm among the members of the
organization.

e The best-worded vision statement clearly illuminates the direction in which
organization is headed.

Q6. What are ‘objectives'? What characteristics it must possess to be meaningful?

[RTP May 21]

ANS. Objectives are organizations performance targets - the results and outcomes it wants

to achieve. They function as yardstick for tracking an organization's performance and
progress.

Objectives with strategic focus relate to outcomes that strengthen an organization's
overall business position and competitive vitality. Objectives, o be meaningful to serve
the intended role, must possess the following characteristics:

e Objectives should define the organization's relationship with its environment.

e Objectives should be facilitative towards achievement of mission and purpose.

e Objectives should provide the basis for strategic decision-making.

e Objectives should provide standards for performance appraisal.

e Objectives should be understandable.

e Objectives should be concrete and specific.

e Objectives should be related to a time frame.

e Objectives should be measurable and controllable.

e Objectives should be challenging.

o Different objectives should correlate with each other.
e Objectives should be set within constraints

Q7. What are the elements in strategic intent of organisation?

[RTP May 20]

ANS. Strategic intent can be understood as the philosophical base of strategic management.

It implies the purposes, which an organization endeavours to achieve. It is a statement

that provides a perspective. Strategic intent gives an idea of what the organization

desires to attain in future. Strategic intent provides the framework within which the

firm would adopt a predetermined direction and would operate to achieve strategic
objectives. Elements of strategic management are as follows:
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Vision: Vision implies the blueprint of the company's future position. It describes
where the organisation wants to land. It depicts the organisation's aspirations and
provides a glimps of what the organization would like to become in future. Every
sub system of the organization is required to follow its vision.

Mission: Mission delineates the firm's business, its goals and ways to reach the
goals. It explains the reason for the existence of the firm in the society. A mission
statement helps to identify, ‘what business the company undertakes." It defines
the present capabilities, activities, customer focus and role in society.

Business Definition: It seeks to explain the business undertaken by the firm, with
respect to the customer needs, tfarget markets, and alternative technologies. With
the help of business definition, one can ascertain the strategic business choices.

Business Model: Business model, as the name implies is a strategy for the
effective operation of the business, ascertaining sources of income, desired
customer base, and financial details. Rival firms, operating in the same industry
rely on the different business model due to their strategic choice.

Goals and Objectives: These are the base of measurement. Goals are the end
results, that the organization attempts to achieve. On the other hand, objectives
are time-based measurable targets, which help in the accomplishment of goals.
These are the end results which are to be attained with the help of an overall plan.
However, in practice, no distinction is made between goals and objectives and both
the terms are used interchangeably.

Why an organisation should have a mission? What considerations are to be kept in mind

while writing a good mission statement of a company? [Nov. 19]

Organization should have a mission on account of the following reasons:

To ensure unanimity of purpose within the organization.

To develop a basis, or standard, for allocating organizational resources.
To provide a basis for motivating the use of the organization's resources.
To establish a general tone or organizational climate.

To serve as a focal point for those who can identify with the organization's
purpose and direction.

To facilitate the translation of objective and goals into a work structure involving
the assignment of tasks to responsible elements within the organization.

To specify organizational purposes and the translation of these purposes into goals
in such a way that cost, time, and performance parameters can be assessed and
controlled.
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The following points must be considered while writing a good mission statement of a
company:

(i) To establish the special identity of the business - one that typically distinct it
from other similarly positioned companies.

(ii) Good mission statements should be unique to the organisation for which they are
developed.

(iii) Needs which business tries to satisfy, customer groups it wishes o target and the
technologies and competencies it uses and the activities it performs.

ABC Limited is in a wide range of businesses which include apparels, lifestyle products,
furniture, real estate and electrical products. The company is looking to hire a suitable
Chief Executive Officer. Consider yourself as the HR consultant for ABC limited. You
have been assigned the task to enlist the activities involved with the role of the Chief
Executive Officer. Name the strategic level that this role belongs to and enlist the
activities associated with it.

[MTP 1 Nov. 23]

ANS. The role of Chief Executive Officer pertains to corporate level.

The corporate level of management consists of the Chief Executive Officer (CEO) and
other top-level executives. These individuals occupy the apex of decision making within
the organization.

The role of Chief Executive Officer is to:
oversee the development of strategies for the whole organization;
defining the mission and goals of the organization;

determining what businesses, it should be in;

1
2
3
4. allocating resources among the different businesses;
5. formulating, and implementing strategies that span individual businesses;
6. providing leadership for the organization;

7

ensuring that the corporate and business level strategies which company pursues
are consistent with maximizing shareholders wealth; and

8. managing the divestment and acquisition process.
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CHAPTER - 02

STRATEGIC ANALYSIS : EXTERNAL ENVIRONMENT

Suresh Singhania is the owner of an agri-based private company in Sangrur, Punjab. His
unit is producing puree, ketchups and sauces. While its products have significant market
share in the northern part of country, the sales are on decline in last couple of years.
He seeks help of a management expert who advises him to first understand the
competitive landscape.

Explain the steps to be followed by Suresh Singhania fo understand competitive
landscape. [RTP May 18]

Steps to understand the competitive landscape

(i) TIdentify the competitor: The first step to understand the competitive landscape
is to identify the competitors in the firm's industry and have actual data about
their respective market share.

(ii) Understand the competitors: Once the competitors have been identified, the
strategist can use market research report, internet, newspapers, social media,
industry reports, and various other sources fo understand the products and
services offered by them in different markets.

(iii) Determine the strengths of the competitors: What are the strength of the
competitors? What do they do well? Do they offer great products? Do they utilize
marketing in a way that comparatively reaches out to more consumers. Why do
customers give them their business?

(iv) Determine the weaknesses of the competitors: Weaknesses (and strengths) can
be identified by going through consumer reports and reviews appearing in various
media. After all, consumers are often willing to give their opinions, especially when
the products or services are either great or very poor.

(v) Put all of the information together: At this stage, the strategist should put
together all information about competitors and draw inference about what they
are not offering and what the firm can do to fill in the gaps. The strategist can
also know the areas which need to be strengthen by the firm.

Q11. Why companies should go global? Mention any five reasons. [Nov. 20]

ANS.

There are several reasons why companies go global. These are discussed as follows:

e  One reason could be the rapid shrinking of time and distance across the globe -
thanks to faster communication, speedier fransportation, growing financial flows
and rapid technological changes.

e It is being realized that the domestic markets are no longer adequate and rich.
Companies globalize to take advantage of opportunities available elsewhere.
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e A new product may gradually get acceptance and grow locally and then globally.
This may initially be in form of exports and then later production facilities may
begin in other countries.

e  Organizations may go global to take advantage of cheaper raw material and labour
costs.

e  Companies often set up overseas plants to reduce high transportation costs.

e  The motivation o go global in high-tech industries is slightly different. Companies
in electronics and telecommunications must spend large sums on research and
development for new products and thus may be compelled to seek ways fo improve
sales volume to support high overhead expenses.

e  The companies may also go global to tfake advantage of local taxation laws.

e To form strategic alliances to ward off economic and technological threats and
leverage their respective comparative and competitive advantages.

Q12. Examine the significance of KSFs (Key Success Factors) for competitive success.
[Nov. 18]

ANS. As industry's Key Success Factors (KSFs) are those things that most affect industry
members’ ability fo prosper in the market place - the particular strategy elements,
product attributes, resources, competencies, competitive capabilities and business
outcomes that spell the difference between profit & loss and ultimately, between
competitive success or failure. KSFs by their very nature are so important that all
firms in the industry must pay close attention fo them. They are the prerequisites for
industry success, or, to put it in another way, KSFs are the rules that shape whether a
company will be financially and competitively successful.

Q13. Buyers can exert considerable pressure on business. Do you agree? Discuss.
[RTP Nov. 19]
ANS. Buyers of an industry's products or services can exert considerable pressure on existing
firms to secure lower prices or better services. This is evident in sitfuations where
buyers enjoy superior position than the seller of product. This leverage is particularly
evident when:

(i) Buyers have full knowledge of the sources of products and their substitutes.
(ii) They spend a lot of money on the industry's products, i.e., they are big buyers.

(iii) The industry's product is not perceived as critical o the buyer's needs and buyers
are more concentrated than firms supplying the product. They can easily switch to
the substitutes available.
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Explain Porter's five forces model as to how businesses can deal with the competition.
[RTP Nov. 18]

To gain a deep understanding of a company's industry and competitive environment,
managers do not need to gather all the information they can find and waste a lot of
time digesting it. Rather, the task is much more focused. A powerful and widely used
tool for systematically diagnosing the significant competitive pressures in a market and
assessing the strength and importance of each is the Porter's five-forces model of
competition. This model holds that the state of competition in an industry is a
composite of competitive pressures operating in five areas of the overall market:

e  Competitive pressures associated with the market manoeuvring and jockeying for

buyer patronage that goes on among rival sellers in the industry.

e  Competitive pressures associated with the threat of new entrants into the market.

e  Competitive pressures coming from the attempts of companies in other industries
to win buyers over to their own substitute products.

e  Competitive pressures stemming from supplier bargaining power and supplier-seller
collaboration.

e  Competitive pressures stemming from buyer bargaining power and seller-buyer
Collaboration.

Rahul Sharma is Managing Director of a company which is manufacturing trucks. He is
worried about the entry of new businesses. What kind of barriers will help Rahul against
such a threat?

[RTP May 19]

A firm's profitability tends to be higher when other firms are blocked from entering
the industry. New entrants can reduce industry profitability because they add new
production capacity leading to increase supply of the product even at a lower price and
can substantially erode existing firm's market share position. Barriers to entry
represent economic forces that slow down or impede entry by other firms. Common
barriers to entry include:

(i) Capital Requirements: When a large amount of capital is required to enter an
industry, firms lacking funds are effectively barred from the industry, thus
enhancing the profitability of existing firms in the industry.

(ii) Economies of Scale: Many industries are characterized by economic activities
driven by economies of scale. Economies of scale refer to the decline in the per-
unit cost of production (or other activity) as volume grows.

(iii) Product Differentiation: Product differentiation refers to the physical or
perceptual differences, or enhancements, that make a product special or unique in
the eyes of customers.
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(iv) Switching Costs: To succeed in an industry, new entrant must be able fo persuade
existing customers of other companies to switch to its products. When such
switching costs are high, buyers are often reluctant to change.

(v) Brand Identity: The brand identity of products or services offered by existing
firms can serve as another entry barrier. Brand identity is particularly important
for infrequently purchased products that carry a high unit cost to the buyer.

(vi) Access to Distribution Channels: The unavailability of distribution channels for
new enfrants poses another significant entry barrier. Despite the growing power
of the internet, many firms may continue to rely on their control of physical
distribution channels to sustain a barrier to entry to rivals.

(vii) Possibility of Aggressive Retaliation: Sometimes the mere threat of aggressive
retaliation by incumbents can deter entry by other firms into an existing industry.

A company has recently launched a new product in the market. Initially, it faced slow
sales growth, limited markets, and high prices. However, over time, the demand for the
product expanded rapidly, prices fell, and competition increased. Identify the stages of
the product life cycle (PLC) that the company went through.

[RTP Nov.2023]
The company went through the following stages of the product life cycle (PLC):

Introduction stage: Initially, the company faced slow sales growth, limited markets,
and high prices, which are characteristic of the introduction stage. During this stage,
competition is almost negligible, and customers have limited knowledge about the
product.

Growth stage: Over time, the demand for the product expanded rapidly, prices fell,
and competition increased. These are typical features of the growth stage in the PLC.
In this stage, the product gains market acceptance, and customers become more aware
of the product's benefits and show interest in purchasing it.

Write short note on SWOT analysis.

[MTP 1 Nov.2023]

SWOT analysis is a tool used by organizations for evolving strategic options for the
future. The term SWOT refers to the analysis of strengths, weaknesses, opportunities
and threats facing a company. Strengths and weaknesses are identified in the internal
environment, whereas opporfunities and threats are located in the external
environment.

10
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(a) Strength: Strength is an inherent capability of the organization which it can use
o gain strategic advantage over its competitor.

(b) Weakness: A weakness is an inherent limitation or constraint of the organisation
which creates strategic disadvantage to it.

(c) Opportunity: An opportunity is a favourable condition in the external environment
which enables it to strengthen its position.

(d) Threat: An unfavourable condition in the external environment which causes a risk
for, or damage to the organisation's position.

The major purpose of SWOT analysis is to enable the management to create a firm-
specific business model that will best align, fit or match an organisational resources and
capabilities to the demands of the environment in which it operates.

Explain the concept of Experience Curve and highlight its relevance in strategic
management.

[RTP May 2024]

Experience curve akin to a learning curve which explains the efficiency increase gained
by workers through repetitive productive work. Experience curve is based on the
commonly observed phenomenon that unit costs decline as a firm accumulates
experience in terms of a cumulative volume of production. It is based on the concept,
"we learn as we grow".

The implication is that larger firms in an industry would tend to have lower unit costs as
compared to those for smaller companies, thereby gaining a competitive cost advantage.

Experience curve results from a variety of factors such as learning effects, economies
of scale, product redesign and technological improvements in production.

Experience curve has following features:

e  As business organisation grow, they gain experience.

e  Experience may provide an advantage over the competition. Experience is a key
barrier o entry.

e  Large and successful organisation possess stronger "experience effect".

A typical experience curve may be depicted as follows:

11
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Cost per Unit

Cummulative Production in Units

Experience curve
As a business grows, it understands the complexities and benefits from its experiences.

The concept of experience curve is relevant for a number of areas in strategic
management. For instance, the experience curve is considered a barrier for new firms
contemplating entry in an industry. It is also used to build market share and discourage
competition.

ABC Corp, a multinational consumer electronics company, is planning to expand its
operations into a new country. The company's senior management is evaluating the
potential risks and opportunities of entering this new market. As part of their analysis,
they decide to use the PESTLE framework to assess the external factors that could
impact their decision. How can the PESTLE framework help ABC Corp assess the
external factors affecting its decision to expand into a new country? [MTP - May 24]

The PESTLE framework can help ABC Corp assess the external factors affecting its
decision to expand into a new country by considering the following aspects:

e  Political Factors: These include the stability of the government, government
policies on foreign investment, trade agreements, and regulatory frameworks. By
analyzing these factors, ABC Corp can assess the political risks associated with
entering the new market.

. Economic Factors: Economic factors such as GDP growth rate, inflation rate,
exchange rates, and economic stability can impact ABC Corp's decision. By
analyzing these factors, the company can understand the economic environment of
the new market and its potential impact on business operations.

. Social Factors: Social factors such as cultural norms, demographics, and lifestyle
trends can influence consumer behavior and demand for ABC Corp's products.
Understanding these factors can help the company tailor its marketing strategies
to the new market.

12
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e  Technological Factors: Technological factors such as infrastructure, technological
advancements, and the level of technology adoption in the new market can impact
ABC Corp's operations. By assessing these factors, the company can determine the
technological requirements for entering the new market.

e Legal Factors: Legal factors such as laws and regulations related to foreign
investment, intellectual property rights, and labor laws can impact ABC Corp's
decision. By analyzing these factors, the company can ensure compliance with legal
requirements in the new market.

e  Environmental Factors: Environmental factors such as climate change,
environmental regulations, and sustainability practices can impact ABC Corp's
operations and reputation. By considering these factors, the company can assess
the environmental risks and opportunities in the new market.

Overall, the PESTLE framework can provide ABC Corp with a comprehensive analysis of
the external factors that could impact its decision to expand into a new country, helping
the company make informed and strategic decisions.

You are a strategic manager for a tech company launching a new smartphone model. The
company wants fo ftarget tech-savvy consumers who value innovation and cutting-edge
technology. Using the concept of customer behavior, develop a marketing strategy to
promote the new smartphone. [MTP - May 24]

To target tech-savvy consumers for the new smartphone model, the tech company can
develop a marketing strategy based on customer behavior. Consumer behaviour may be
influenced by a number of things. These elements can be categorised into the following
conceptual domains:

e  External Influences: Utilize online platforms and tech forums to generate buzz
around the new smartphone. Partner with tech influencers and bloggers to review
the product and create awareness among tech-savvy consumers.

e Internal Influences: Appeal to the desire for innovation and advanced features
among tech-savvy consumers. Highlight the unique selling points of the new
smartphone, such as its cutting-edge technology, performance, and design.

e Decision Making: Recognize that tech-savvy consumers are early adopters who
value functionality and performance. Provide detailed specifications and
comparisons with other smartphones to help them make an informed decision.

e  Post-decision Processes: Offer excellent customer service and support to
address any technical issues or concerns. Encourage customers to provide
feedback and reviews to build credibility and trust among tech-savvy consumers.

13
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Figure: Process of consumer behaviour

By understanding the behavior of tech-savvy consumers and aligning the marketing
strategy with their preferences, the tech company can effectively promote the new
smartphone and attract this demographic.

A beverage company is launching a new line of energy drinks fargeted at health-
conscious consumers. The strategic manager wants to study the market position of rival
companies in the energy drink segment. Which tool can be used for this analysis, and
what is the procedure to implement it effectively? [MTP - May 24]

To study the market position of rival companies in the energy drink segment, the
strategic manager can use strategic group mapping. This tool helps identify strategic
groups, which consist of rival firms with similar competitive approaches and positions in
the market. The procedure for implementing strategic group mapping effectively is as
follows:

1. TIdentify the competitive characteristics that differentiate firms in the industry
typical variables that are price/quality range (high, medium, low); geographic
coverage (local, regional, national, global); degree of vertical integration (none,
partial, full); product- line breadth (wide, narrow); use of distribution channels
(one, some, all); and degree of service offered (no-frills, limited, full).

2. Plot the firms on a two-variable map using pairs of these differentiating
characteristics.

3. Assign firms that fall in about the same strategy space to the same strategic
group.

4. Draw circles around each strategic group making the circles proportional to the

size of the group's respective share of total industry sales revenues.

By following these steps, the strategic manager can gain valuable insights info the
competitive landscape of the energy drink segment and identify potential positioning
strategies for the new line of energy drinks targeted at health-conscious consumers.

14
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CHAPTER - 03

STRATEGIC ANALYSIS : INTERNAL ENVIRONMENT

Core competencies provide edge to a business over its competitors. [RTP Nov. 21]

A core competence is a unique strength of an organization which may not be shared by
others. Core competencies are those capabilities that are critical tfo a business
achieving competitive advantage. In order to qualify as a core competence, the
competency should differentiate the business from any other similar businesses. An
organization's combination of technological and managerial know-how, wisdom and
experience are a complex set of capabilities and resources that can lead to a
competitive advantage compared to a competitor.

According to C.K. Prahalad and Gary Hamel, major core competencies are
identified in following three areas:

1. Competitor differentiation: The Company can consider having a core competence
if the competence is unique and it is difficult for competitors to imitate. This can
provide a company an edge compared to competitors. It allows the company to
provide better products and services to market with no fear that competitors can
copy it.

2. Customer value: When purchasing a product or service it has to deliver a
fundamental benefit for the end customer in order to be a core competence. It
will include all the skills needed to provide fundamental benefits. The service or
the product has to have real impact on the customer as the reason to choose to
purchase them. If customer has chosen the company without this impact, then
competence is not a core competence and it will not affect the company's market
position.

3. Application of competencies to other markets: Core competence must be
applicable to the whole organization; it cannot be only one particular skill or
specified area of expertise. Therefore, although some special capability would be
essential or crucial for the success of business activity, it will not be considered as
core competence if it is not fundamental from the whole organization's point of view.

Thus, a core competence is a unique set of skills and expertise, which will be used
throughout the organization to open up potential markets to be exploited.

Capabilities that are valuable, rare, costly to imitate, and non-substitutable are core
competencies. Explain these four specific criteria of sustainable competitive advantage
that firms can use to determine those capabilities that are core competencies.

[RTP May 20]

15
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Four specific criteria of sustainable competitive advantage that firms can use to
determine those capabilities that are core competencies. Capabilities that are valuable,
rare, costly fo imitate, and non-substitutable are core competencies.

(i) Valuable: Valuable capabilities are the ones that allow the firm to exploit
opportunities or avert the threats in its external environment. A firm created
value for customers by effectively using capabilities to exploit opportunities.
Finance companies build a valuable competence in financial services. In addition, to
make such competencies as financial services highly successful require placing the
right people in the right jobs. Human capital is important in creating value for
customers.

(ii) Rare: Core competencies are very rare capabilities and very few of the
competitors possess this. Capabilities possessed by many rivals are unlikely to be
sources of competitive advantage for any one of them. Competitive advantage
results only when firms develop and exploit valuable capabilities that differ from
those shared with competitors.

(iii) Costly to imitate: Costly to imitate means such capabilities that competing firms
are unable to develop easily. For example: Intel has enjoyed a first-mover
advantage more than once because of its rare fast R&D cycle time capability that
brought SRAM and DRAM integrated circuit technology, and brought
microprocessors to market well ahead of the competitor. The product could be
imitated in due course of time, but it was much more difficult to imitate the R&D
cycle time capability.

(iv) Non-substitutable: Capabilities that do not have strategic equivalents are called
non- substitutable capabilities. This final criterion for a capability to be a source
of competitive advantage is that there must be no strategically equivalent valuable
resources that are themselves either not rare or imitable.

What is a Strategic Group? Discuss the procedure for constructing a strategic group
map. [RTP May 19]

strategic group consists of those rival firms which have similar competitive approaches
and positions in the market. Companies in the same strategic group can resemble one
another in any of the several ways - have comparable product-line breadth, same
price/quality range, same distribution channels, same product attributes, identical
technological approaches, offer similar services and ftechnical assistance and so on.

The procedure for constructing a strategic group map and deciding which firms belong
in which strategic group is as follows:

e Identify the competitive characteristics that differentiate firms in the industry
typical variables are price/quality range (high, medium, low); geographic coverage
(local, regional, national, global); degree of vertical integration (none, partial, full);
product- line breadth (wide, narrow); use of distribution channels (one, some, all); and
degree of service offered (no-frills, limited, full).
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e Plot the firms on a two-variable map using pairs of these differentiating
characteristics.

e Assign firms that fall in about the same strategy space to the same strategic group.

e Draw circles around each strategic group making the circles proportional fo the size
of the group's respective share of total industry sales revenues

Mohan has joined as the new CEO of XYZ Corporation and aims to make it a dominant
technology company in the next five years. He aims fo develop competencies for
managers for achieving better performance and a competitive advantage for XYZ
Corporation. Mohan is well aware of the importance of resources and capabilities in
generating compeftitive advantage.

Discuss the four major characteristics of resources and capabilities required by XYZ
Corporation to sustain the competitive advantage and its ability to earn profits from it.
[Jan. 21]

XYZ Corporation is aiming to transform into a dominant technology company under the
leadership of Mohan, the new CEO. He aims to develop competencies for managers for
achieving better performance and a competitive advantage for the corporation. Mohan
is also well aware of the importance of resources and capabilities in generating and
sustaining the competitive advantage. Therefore he must focus on characteristics of
resources and capabilities of the corporation.

The sustainability of competitive advantage and a firm's ability to earn profits from it
depends, fo a great extent, upon four major characteristics of resources and
capabilities which are as follows:

1. Durability: The period over which a competitive advantage is sustained depends in
part on the rate at which a firm's resources and capabilities deteriorate. In
industries where the rate of product innovation is fast, product patents are quite
likely to become obsolete. Similarly, capabilities which are the result of the
management expertise of the CEO are also vulnerable fo his or her retirement or
departure. On the other hand, many consumer brand names have a highly durable
appeal.

2. Transferability: Even if the resources and capabilities on which a competitive
advantage is based are durable, it is likely to be eroded by competition from rivals.
The ability of rivals to attack position of competitive advantage relies on their
gaining access to the necessary resources and capabilities. The easier it is fo
transfer resources and capabilities between companies, the less sustainable will be
the competitive advantage which is based on them.
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3. Imitability: If resources and capabilities cannot be purchased by a would-be
imitator, then they must be built from scratch. How easily and quickly can the
competitors build the resources and capabilities on which a firm's competitive
advantage is based? This is the true test of imitability. Where capabilities require
networks of organizational routines, whose effectiveness depends on the
corporate culture, imitation is difficult.

4. Appropriability: Appropriability refers to the ability of the firm's owners to
appropriate the returns on its resource base. Even where resources and
capabilities are capable of offering sustainable advantage, there is an issue as to
who receives the returns on these resources.

Write a short note on the concept of cost leadership strategy and how to achieve it?
[Nov. 19]

Cost leadership strategy requires vigorous pursuit of cost reduction in the areas of
procurement, production, storage and distribution of product or service and also
economies in overhead costs. Accordingly, the cost leader is able to charge a lower price
for its products than its competitors and still make satisfactory profits. The low cost
leadership should be such that no competitors are able o imitate so that it can result in
sustainable competitive advantage to the cost leader firm.

To achieve cost leadership, following are the actions that could be taken:

1. Forecast the demand of a product or service promptly.

Optimum utilization of the resources to get cost advantages.

Achieving economies of scale leads to lower per unit cost of product/service.

Standardisation of products for mass production fo yield lower cost per unit.

o & w N

Invest in cost saving technologies and try using advance technology for smart
working.

6. Resistance to differentiation till it becomes essential.

What do you mean by differentiation strategy? How is it achieved?
[May 19]

Differentiation strategy is aimed at broad mass market and involves the creation of a
product or service that is perceived by the customers as unique. The uniqueness can be
associated with product design, brand image, features, technology, dealer network or
customer service. Because of differentiation, the business can charge a premium for its
product.

Differentiation strategy should be pursued only after a careful study of buyers’ needs
and preferences to defermine the feasibility of incorporating one or more
differentiating features into a unique product that features the desired attributes.
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To achieve differentiation, following measures can be adopted by an organization:

1. Offer utility for the customers and match the products with their tastes and
preferences.

Elevate the performance of the product.
Offer the promise of high quality product/service for buyer satisfaction.
Rapid product innovation.

Taking steps for enhancing image and its brand value.

o O s w N

Fixing product prices based on the unique features of the product and buying
capacity of the customer.

What are the factors which determine the nature of rivalry in an industry?
[December 2021]

The intensity of rivalry in an industry is a significant determinant of an industry's
attractiveness and profitability. The intensity of rivalry can influence the cost of
suppliers, distribution, and of attracting customers and thus, can directly affect the
profitability. * The more intensive the rivalry, the less attractive is the industry”.
Rivalry among competitors tends to be cutthroat and an industry's profitability is low
when;

(i) Anindustry has no clear leader. Therefore, continuous war for leadership.
(ii) Competitors in the industry are numerous.

(iii) Competitors operate with high fixed costs. Thus, aiming for better Return on
Investment with more fierce tactics.

(iv) Competitors face high exit barriers, and therefore, continue to fight for market
share.

(v) Competitors have little opportunity to differentiate their offerings.

(vi) The industry faces slow or diminished growth.

Quick N Sturdy Inc., a multinational company, is undergoing feasibility study to
introduce new luxury and sports car for specific group of customers. The product is
meant for customers with distinctive preferences and special requirements. The
product is not a standard one and as such the target market is also narrow. Company
knows that demand for the product is large enough to be profitable for the company,
but small enough to be ignored by other major industry players. The company wants to
position itself in the niche market with the prime consideration to offer unique
features in the product for the target market.

In the given situation, identify the generic strategy as suggested by Michael Porter.
Also state the advantages and disadvantages of such strategy. [December 2022]
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Quick N Sturdy Inc. has adopted Focused Differentiation Strategy which is one of the
Michael Porter's generic strategies. A focused differentiation strategy requires
offering unique features that fulfil the demands of a narrow market. Some firms using
a focused differentiation strategy concentrate their efforts on a particular sales
channel, such as selling over the internet only. Others target particular demographic
groups. Firms that compete based on uniqueness and target a narrow market are
following a focused differentiation strategy.

Advantages of Focused Strategy

1. Premium prices can be charged by the organisations for their focused
product/services.

2. Due to the tremendous expertise in the goods and services that the organisations
following focus strategy offer, rivals and new entrants may find it difficult to
compete.

Disadvantages of Focused Strategy

1. The firms lacking in distinctive competencies may not be able to pursue focus
strategy.

2. Due to the limited demand of product/services, costs are high, which can cause
problems.

3. In the long run, the niche could disappear or be taken over by larger competitors
by acquiring the same distinctive competencies.

How can Mendelow's Matrix be used to analyze and manage the stakeholders
effectively? [MTP - May 24]

Mendelow's Matrix can be used effectively to analyze and manage stakeholders through
a grid-based approach by the following steps:

1. Identify Stakeholders: Begin by identifying all relevant stakeholders for your
project or organization. This includes individuals, groups, or organizations that may
be impacted by or have an impact on your activities.

2. Assess Power and Interest: For each stakeholder, assess their power to influence
your project or organization and their level of interest in its success. Power can be
assessed based on factors such as authority, resources, and expertise, while
interest can be gauged by their level of involvement, expectations, and potential
benefits or risks.

3. Plot Stakeholders on the Grid: Create a grid with Power on one axis and Interest
on the other. Plot each stakeholder on the grid based on your assessment.
Stakeholders with high power and high interest are placed in the "Key Players"
quadrant, those with high power but low interest are in the "Keep Satisfied"
quadrant, those with low power but high interest are in the "Keep Informed"
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quadrant, and those with low power and low interest are in the "Low Priority"

quadrant
A
£ KEEP KEY PLAYER
T Manage Closely
SATISFIED Involve in decision making
Consult often Engage regularly and
Increase their interest build strong relationship
Can be hindrance to new
ideas or strategic choices
[
=
S LOW KEEP
= PRIORITY INFORMED
= Monitor only, Utilise the high interest by
@ no engagement engaging in decisions
g General occasional Consult in their areas of
o communication expertise and interest
Low Interest in the Organisation High .

Develop Strategies for each Quadrant: Based on the placement of stakeholders
in the grid, develop specific strategies for managing each quadrant:

Key Players: Fully engage with these stakeholders, seek their input, and keep
them informed. They are crucial for the success of your project, so their
needs and expectations should be a top priority.

Keep Satisfied: These stakeholders have significant power but may not be as
interested in your project. Keep them satisfied by providing regular updates
and addressing any concerns they may have to prevent them from becoming
defractors.

Keep Informed: While these stakeholders may not have much power, they
are highly interested in your project. Keep them informed to ensure they
remain supportive and to leverage their insights and feedback.

Low Priority: These stakeholders have low power and interest. Monitor them
for any changes but allocate minimal resources fo managing their
expectations.

Monitor and Adapt: Continuously monitor the power and interest of stakeholders
and adjust your strategies accordingly. Stakeholders may move between quadrants

based on changing circumstances, so it's important to remain flexible and
responsive.

By using Mendelow's Matrix as a grid-based tool, you can effectively analyze and

manage stakeholders by tailoring your engagement strategies fo their specific needs
and expectations, ultimately increasing the likelihood of project success.
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Reshuffle Corp is a company that manufactures and sells office furniture. They offer a
range of products, from desks and chairs to cabinets and shelves. Recently, the
company has been facing increased competition from online retailers offering similar
products at lower prices.

Analyzing the characteristics of products in the furniture industry, discuss how
Reshuffle Corp can differentiate its products to maintain a competitive edge in the
market. [MTP - May 24]

To maintain a competitive edge in the face of increased competition, Reshuffle Corp can
differentiate its products in several ways:

e Tangible and Intangible Aspects: Reshuffle Corp can focus on the tangible
aspects of its products, such as using high-quality materials and innovative designs
to create furniture that is both functional and aesthetically pleasing. Additionally,
they can emphasize the intangible aspects of their products, such as excellent
customer service and a strong brand reputation for reliability and durability.

e Pricing Strategies: While market prices are often dictated by competition,
Reshuffle Corp can work on cost optimization to maintain profitability. They can
also consider offering value-added services, such as free installation or extended
warranties, to justify a higher price point.

e  Product Features: By continually optimizing their product features based on
customer feedback and market trends, Reshuffle Corp can ensure that their
products deliver maximum satisfaction to their target customers. This may include
features that enhance functionality, design, quality, and overall user experience.

e  Product Centric Approach: Reshuffle Corp should keep their products at the
center of their strategic activities, ensuring that all business processes, from
production to sales and marketing, are aligned to meet customer needs and
expectations.

e  Product Life Cycle Management: Reshuffle Corp should be aware of the life cycle
of their products and plan for reinvention or replacement accordingly. They can
introduce new product lines or upgrade existing ones to keep up with changing
customer preferences and market trends.

StarTech Solutions, an aerospace technology firm, operates in a highly competitive
industry. Despite the fierce competition in the aerospace sector, StarTech has carved
out a niche for itself by focusing on serving unique, high-end clients. Unlike its
competitors, StarTech has chosen not fo diversify its target market and instead
specializes in providing cutting-edge solutions to this niche market.

Identify and explain the strategy adopted by StarTech Solutions. Discuss the
advantages and disadvantages of this strategy. [MTP - May 24]
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ANS. The strategy adopted by StarTech Solutions is Focused differentiation. This strategy

Q33.

involves targeting a specific segment of the market with unique products or services
that are perceived as valuable by customers in that segment. By specializing in serving
unique, high-end clients, StarTech is able to differentiate itself from competitors and
create a competitive advantage.

Advantages of Focused Differentiation:

e  Strong Customer Loyalty: By catering to a specific niche market, StarTech can
build strong relationships with its customers, leading to higher customer loyalty
and retention.

e  Higher Profit Margins: Serving a niche market allows StarTech to command higher
prices for its specialized products or services, leading to higher profit margins.

e Reduced Competition: By focusing on a niche market that other firms are not
targeting, StarTech faces less competition, allowing it to establish itself as a
leader in that segment.

e Better Resource Allocation: Focusing on a specific market segment allows
StarTech to allocate its resources more efficiently, concentrating on areas that
will provide the greatest return on investment.

Disadvantages of Focused Differentiation:

e Limited Market Size: The niche market that StarTech is targeting may be limited
in size, restricting the company's potential for growth.

e Risk of Market Changes: Changes in the market or customer preferences could
impact on the demand for StarTech's specialized products or services, leading to
potential revenue loss.

e Higher Costs: Serving a niche market may require specialized resources and
expertise, leading to higher costs of operation.

e  Imitation by Competitors: If StarTech's success in the nichemarket attracts
competitors, they may attempt to imitate its strategy, eroding its competitive advantage

Overall, the focused differentiation strategy adopted by StarTech Solutions has
allowed it to differentiate itself in a competitive industry and build a strong position in
the market. However, the company must be aware of the potential challenges and risks
associated with this strategy and continue to innovate and adapt to maintain its
competitive edge.

What are channels? Why is channel analysis important? Explain the different types of
channels ? [May 24]
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Q34. Leatherite Ltd. was started as a leather company to manufacture footwear. Currently,

ANS.

they are in the manufacturing of footwears for males and females. The top management
desires to expand the business in the leather manufacturing goods. To expand they
decided to purchase more machines to manufacture leather bags for males and females.

Identify and explain the strategy opted by the top management of Leatherite Ltd.
[RTP Nov. 21]

Leatherite Ltd. is currently manufacturing footwears for males and females and its top
management has decided to expand its business by manufacturing leather bags for
males and females. Both the products are similar in nature within the same industry.
The strategic diversification that the fop management of Leatherite Ltd. has opted is
concentric in nature. They were in business of manufacturing leather footwears and now
they will manufacture leather bags as well. They will be able to use existing
infrastructure and distribution channel. Concentric diversification amounts to related
diversification.

In concentric diversification, the new business is linked to the existing businesses
through process, technology or marketing. The new product is a spin-off from the
existing facilities and products/processes. This means that in concentric diversification
too, there are benefits of synergy with the current operations.

Q35. Explain the term Merger and Acquisition as a growth strategy. Differentiate between

ANS.

both of them. State the situations in which such strategies are considered by any
organization. [RTP Nov. 21]

Acquisition or merger with an existing concern is an instant means of achieving
expansion. It is an attractive and tempting proposition in the sense that it circumvents
the time, risks and skills involved in screening internal growth opportunities, seizing
them and building up the necessary resource base required to materialise growth.

Apart from the urge to grow, acquisitions and mergers are resorted to for purposes of
achieving a measure of synergy between the parent and the acquired enterprises.
Synergy may result from such bases as physical facilities, technical and managerial
skills, distribution channels, general administration, research and development and so
on.

Many organizations in order to achieve quick growth, expand or diversify with the use
of mergers and acquisitions strategies. Merger and acquisition in simple words are
defined as a process of combining two or more organizations together. There is a thin
line of difference between the two terms but the impact of combination is completely
different in both the cases.
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Merger is considered to be a process when two or more organizations join together to
expand their business operations. In such a case the deal gets finalized on friendly
terms. Owners of pre-merged entities have right over the profits of new entity. In a
merger two organizations combine to increase their strength and financial gains.

While, when one organization takes over the other organization and controls all its
business operations, it is known as acquisition. In the process of acquisition, one
financially strong organization overpowers the weaker one. Acquisitions often happen
during economic recession or during declining profit margins. In this process, one that is
financially stronger and bigger establishes it power. The combined operations then run
under the name of the powerful entity. A deal in case of an acquisition is often done in
an unfriendly manner, it is more or less a forced association.

Q36. General public is discerning from buying air conditioning units based on the Health

ANS.

Ministry guidelines regarding emergence of a contagious viral pandemic. Consequently,
Nebula Pvt. Ltd, a manufacturer of evaporation coils used in air conditioning units has
faced significant loss in working capital due to sharp fall in demand. The company
conducted financial assessment and developed a workable action plan based on short and
long term financial needs. But for immediate needs, an emergency plan has been
implemented. It includes selling scrap, asset liquidation and overheads cost reduction.
Further, to avoid any such untoward event in future, they plan to diversify into newer
business areas along with its core business. Identify and explain the strategy opted by
M/s. Nebula Pvt. Ltd.? [RTP Nov. 20]

M/s. Nebula Pvt Ltd has opted Turnaround Strategy as the company while facing serious
working capital crunch persistently conducted an assessment of current problem and
developed a workable action plan based on short and long term financial needs and
strategic issues. A workable action plan for turnaround would involve:

Stage One - Assessment of current problems: In the first step, assess the current
problems and get to the root causes and the extent of damage.

Stage Two - Analyze the situation and develop a strategic plan: Identify major
problems and opportunities, develop a strategic plan with specific goals and detailed
functional actions.

Stage Three - Implementing an emergency action plan: If the organization is in a
critical stage, an appropriate action plan must be developed to stop the bleeding and
enable the organization to survive.

Stage Four - Restructuring the business: If the core business is irreparably damaged,
then the outlook for the entire organization may be bleak. Efforts to be made to
position the organization for rapid improvement.

Stage Five - Returning to normal: In the final stage of furnaround strategy process,
the organization should begin to show signs of profitability, return on investments and
enhancing economic value-added.
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Q37. What is Divestment strategy? When is, it adopted? [RTP
Nov. 20]

ANS. Divestment strategy involves the sale or liquidation of a portion of business, or a major

division, profit centre or SBU. For a multiple product company, divestment could be a

part of rehabilitating or restructuring plan called furnaround.

A divestment strategy may be adopted due to various reasons:
When a turnaround has been attempted but has proved to be unsuccessful.

A business that had been acquired proves to be a mismatch and cannot be
integrated within the company.

Persistent negative cash flows from a particular business create financial problems
for the whole company.

Severity of competition and the inability of a firm to cope with it.

Technological upgradation is required if the business is fo survive but where it is
not possible for the firm to invest in it.

A better alternative may be available for investment.

Q38. What is stability strategy? What are the reasons to pursue stability strategy?

[RTP Nov. 19]

ANS. One of the important goals of a business enterprise is stability - to safeguard its

existing interests and strengths, to pursue well established and tested objectives, to

continue in the chosen business path, to maintain operational efficiency on a sustained

basis, to consolidate the commanding position already reached, and to optimise returns

on the resources committed in the business. A stability strategy is pursued by a firm

when:

It continues to serve in the same or similar markets and deals in same or similar
products and services.

The strategic decisions focus on incremental improvement of functional
performance.

Major reasons for stability strategy are as follows:

A product has reached the maturity stage of the product life cycle.

It is less risky as it involves less changes and the staff feels comfortable with
things as they are.

The environment faced is relatively stable.
Expansion may be perceived as being threatening.

Consolidation is sought through stabilizing after a period of rapid expansion.
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Q39. What are the advantages of a strategic alliance? [RTP May 19]

ANS.

A strategic alliance is a relationship between two or more businesses that enables each
to achieve certain strategic objectives which neither would be able to achieve on its
own. The strategic partners maintain their status as independent and separate entities,
share the benefits and control over the partnership, and continue to make contributions
to the alliance until it is terminated. The advantages of strategic alliance can be broadly
categorised as follows:

(@) Organizational: Strategic alliance helps to learn necessary skills and obtain certain
capabilities from strategic partners. Strategic partners may also help to enhance
productive capacity, provide a distribution system, or extend supply chain.

(b) Economic: There can be reduction in costs and risks by distributing them across
the members of the alliance. Greater economies of scale can be obtained in an
alliance, as production volume can increase, causing the cost per unit to decline.

(c) Strategic: Rivals can join fogether fo cooperate instead of compete. Strategic
alliances may also be useful to create a competitive advantage by the pooling of
resources and skills. This may also help with future business opportunities and the
development of new products and technologies. Strategic alliances may also be
used to get access to new technologies or to pursue joint research and
development.

(d) Political: Sometimes strategic alliances are formed with a local foreign business to
gain entry into a foreign market either because of local prejudices or legal
barriers to entry.

Q40. XYZ Ltd. is a multi-product company, suffering from continuous losses since last few

ANS.

years and has accumulated heavy losses which have eroded its net worth.

What strategic option is available to the management of this sick company? Advise with
reasons. [May 18]

XYZ Ltd. is a sick company with accumulated losses that have eroded its net worth. The
multi-product company may analyse its various products to take decisions on the
viability of each. The company may consider refrenchment strategy. Retrenchment
becomes necessary for coping with hostile and adverse situations in the environment
and when any other strategy is likely to be suicidal.

Retrenchment strategy is adopted because of continuous losses and unviability and stability
can be ensured by reallocation of resources from unprofitable to profitable businesses.

Retrenchment strategy is followed when an organization substantially reduces the
scope of its activity. This is done through an attempt to find out the problem areas and
diagnose the causes of the problems. Next, steps are taken to solve the problems.
These steps result in different kinds of refrenchment strategies as follows:
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Turnaround strategy: If the organization chooses to transform itself into a leaner
structure and focuses on ways and means to reverse the process of decline, it adopts a
turnaround strategy. It may try fo reduce costs, eliminate unprofitable outputs,
generate revenue, improve coordination, better control, and so on.

Divestment Strategy: Divestment strategy involves the sale or liquidation of a portion
of business, or a major division, profit centre or SBU. Divestment is usually a part of
rehabilitation or restructuring plan and is adopted when a turnaround has been
attempted but has proved to be unsuccessful.

Liquidation Strategy: In the retrenchment strategy, the most extreme and
unattractive is liquidation strategy. It involves closing down a firm and selling its assets.
It is considered as the last resort because it leads to serious consequences such as loss
of employment for workers and other employees, termination of opportunities where a
firm could pursue any future activities, and the stigma of failure.

The management of multiproduct sick company manufacturing various items need fo
understand pros and cons of each strategic option. The decision will depend upon the
specific circumstances of each product and management goals of the company.

Ajanta & Sons Limited are manufacturers of domestic household security alarms for
high income group homeowners in India. The company is currently reviewing two
strategic options.

Option 1: Selling the same alarms although with different coverings to smaller and low-
income group households at a lower price.

Option 2: Development of new, more sophisticated alarms and a wide range of security
services (guards and surveillance) for sale to industrial clients for higher prices.

The senior management team of Ajanta & Sons Limited are keen to analyse the two
options using Ansoff's matrix. [RTP Nov. 21]

Selling the same alarms with different coverings to smaller and low income group
households at a lower price represents Market Development as the same products are
being sold into a new market. Market development refers to a growth strategy where
the business seeks to sell its existing products into new markets. It is a strategy for
company growth by identifying and developing new markets for the existing products of
the company.

While the development of new and more sophisticated alarms and a wide range of
security services (guards and surveillance) for sale to industrial clients for higher
prices is classified as Diversification, because it involves a new product, being sold in a
new market. Diversification refers to a growth strategy where a business markets new
products in new markets. It is a strategy by starting up or acquiring businesses outside
the company's current products and markets.
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Q42. Write a short note on the role of ADL Matrix in assessing competitive position of a

ANS.

Q43.

ANS.

firm. [RTP Nov. 20]

The ADL matrix has derived its name from Arthur D. Little which is a portfolio analysis
method based on product life cycle. The approach forms a two dimensional matrix based
on stage of industry maturity and the firm's competitive position, environmental
assessment and business strength assessment. The role of ADL matrix is to assess the
competitive position of a firm based on an assessment of the following criteria:

e  Dominant: This is a comparatively rare position and in many cases is attributable
either to a monopoly or a strong and protected technological leadership.

e  Strong: By virtue of this position, the firm has a considerable degree of freedom
over its choice of strategies and is often able to act without its market position
being unduly threatened by its competitors.

e Favourable: This position, which generally comes about when the industry is
fragmented and no one competitor stand out clearly, results in the market leaders
a reasonable degree of freedom.

e Tenable: Although the firms within this category are able to perform
satisfactorily and can justify staying in the industry, they are generally vulnerable
in the face of increased competition from stronger and more proactive companies
in the market.

e  Weak: The performance of firms in this category is generally unsatisfactory
although the opportunities for improvement do exist.

Explain the concept of forward and backward linkages between strategy formulation
and implementation in strategic management, using relevant examples. How do these
linkages impact the overall strategic decision- making process of an organization?

[MTP I May 24]

The concept of forward and backward linkages between strategy formulation and
implementation in strategic management highlights the interconnected nature of these
two phases and their impact on the overall strategic decision-making process of an
organization.

Forward Linkages: Forward linkages refer to the impact of strategy formulation on
strategy implementation. When an organization formulates a new strategy or revises an
existing one, it sets the direction for the organization's future actions. For example, if
a company decides to expand its product line to target a new market segment, this
decision will require changes in the organization's structure, resources allocation, and
possibly its leadership style. These changes are necessary to align the organization's
operations with the new strategic direction. Thus, the formulation of strategies has
forward linkages with their implementation, as it sets the stage for how the strategy
will be executed.
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Backward Linkages: Backward linkages, on the other hand, refer fo the impact of
implementation on strategy formulation. As an organization implements its strategies, it
gains valuable insights and feedback from the implementation process. This feedback
can influence future strategic decisions. For example, if a company faces unexpected
challenges or discovers new opportunities during the implementation of a strategy, it
may need to revaluate its strategic choices. Similarly, past strategic actions and their
outcomes can also influence the formulation of future strategies. Over time, these
incremental changes in strategy and implementation take the organization from its
current state to where it aims to be, reflecting the dynamic nature of strategic
management.

In conclusion, the forward and backward linkages between strategy formulation and
implementation highlight the iterative and interconnected nature of strategic
management. By understanding and leveraging these linkages, organizations can enhance
their strategic decision-making process and improve their overall performance.
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CHAPTER - 05

STRATEGIC IMPLEMENTATION & EVALUATION

Q44. Explain the principal aspects of strategy-execution process. [RTP Nov. 21]

ANS. In most situations, strategy-execution process includes the following principal aspects:

Q45.

ANS.

Developing budgets that steer ample resources into those activities critical to
strategic success.

Staffing the organisation with the needed skills and expertise, consciously building
and strengthening strategy-supportive competencies and competitive capabilities,
and organizing the work effort.

Ensuring that policies and operating procedures facilitate rather than impede
effective execution.

Using the best-known practices to perform core business activities and pushing for
continuous improvement.

Installing information and operating systems that enable company personnel to
better carry out their strategic roles day in and day out.

Motivating people fo pursue the target objectives energetically.

Creating a company culture and work climate conducive to successful strategy
implementation and execution.

Exerting the internal leadership needed to drive implementation forward and keep
improving strategy execution. When the organisation encounters stumbling blocks
or weaknesses, management has to see that they are addressed and rectified
quickly.

Good strategy execution involves creating strong “fits” between strategy and
organisational capabilities, between strategy and the reward structure, between
strategy and internal operating systems, and between strategy and the
organisation's work climate and culture.

With the help of a model explain strategic management process. [RTP Nov. 19]

The strategic management process can best be studied and applied using a model.

Identifying an organization's vision, mission, goals and objectives, is the starting point

for strategic management process. The strategic management process is dynamic and

continuous. A change in any one of the major components in the model can necessitate a

change in any or all of the other components. Therefore, strategy formulation,

implementation, and evaluation activities should be performed on a continual basis, not

just at the end of the year or semi-annually.
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Formulating, implementing, and evaluating strategies are the major components of the
strategic management that are represented in the following model:

Environmental Analysis

A 4 4

Develop Vision, Mission and > BeLae, (it —>| Implement Strategies | Strategic Evaluation and
Objectives and select Strategies

Control

i 1

Organisation

Appraisal

. _ | Implementation Evaluation
Analysis

Figure: Strategic Management Model
The strategic management process is not as cleanly divided and neatly performed in

practice. Strategists do not go through the process in lockstep fashion. Generally,
there is give-and-take among hierarchical levels of an organization. Many organizations
conduct formal meetings semi-annually to discuss and update the firm's vision/mission,
opportunities/threats, strengths/weaknesses, strategies, objectives, policies, and
performance. Creativity from participants is encouraged in meeting. Good
communication and feedback are needed throughout the strategic management
process.

Q46. Bunch Pvt Ltd is dealing in multiproduct like electronics and FMCG and are having
outlets in different cities and markets across India. Due to scale of operation, it is
having technical difficulty in dealing with distinct product line and markets especially in
coordination and control related problems. Identify and suggest an ideal organizational
structure for Bunch Pvt Ltd in resolving the problem? [RTP Nov. 21]

ANS. To deal with the problems facing by the Bunch Pvt Ltd., we suggest Multi divisional
structure for the organisation. Multidivisional (M-form) structure is composed of
operating divisions where each division represents a separate business to which the top
corporate officer delegates responsibility for day-to-day operations and business unit
strategy to division managers. By such delegation, the corporate office is responsible
for formulating and implementing overall corporate strategy and manages divisions
through strategic and financial controls.

Multidivisional or M-form structure was developed in the 1920s, in response to
coordination- and control-related problems in large firms. Functional departments often
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had difficulty dealing with distinct product lines and markets, especially in coordinating
conflicting priorities among the products. Costs were not allocated to individual
products, so it was not possible to assess an individual product's profit contribution.
Loss of control meant that optimal allocation of firm resources between products was
difficult (if not impossible). Top managers became over-involved in solving short-run
problems (such as coordination, communications, conflict resolution) and neglected long-
term strategic issues.

How can you differentiate between transformational and transactional leaders?
[RTP Nov. 21]

Difference between transformational and transactional leadership

1. Transformational leadership style uses charisma and enthusiasm to inspire people
to exert them for the good of organization. Transactional leadership style uses
the authority of its office o exchange rewards such as pay, status symbols etc.

2. Transformational leadership style may be appropriate in turbulent environment, in
industries at the very start or end of their cycles, poorly performing
organisations, when there is a need to inspire a company to embrace major
changes. Transactional leadership style can be appropriate in static environment, in
growing or mature industries and in organisations that are performing well.

3. Transformational leaders inspire employees by offering excitement, vision,
intellectual stimulation and personal satisfaction. Transactional leaders prefer a
more formalized approach to motivation, setting clear goals with explicit rewards
or penalties for achievement and non-achievement. Transactional leaders focus
mainly to build on existing culture and enhance current practices.

4. Delta is an organization specializing in Information Technology enables Services

(ITeS) and Communications business. Previous year the organization had
successfully integrated an Artificial Intelligence (AI) tool named 'Zeus' into the
existing ERP system.

The AT tool using Deep Learning technique provided a digital leap ftransformation in
various business processes and operations. It has significantly diminished the role
played by specialist managers of the middle management. This technological tool in
addition to saving organisational costs by replacing many tasks of the middle
management, has also served as a link between top and bottom levels in the organization
and assists in faster decision making. The skewed middle level managers now perform
cross-functional duties. Which type of organisational structure is the company
transitioning into? [RTP Nov. 20]
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Q49.

ANS.

The company Delta is transitioning intfo the Hourglass organization structure because it
has used technological tools to transform various business processes and operations and
has significantly diminished the role played by specialist managers of the middle
management. The technological tool in addition to savings organisational costs by
replacing many tasks of the middle management has also served as a link between top
and bottom levels in the organization and assists in faster decision making. The skewed
middle level managers now perform cross-functional duties. All these factors indicate
towards Hourglass organization structure.

< > Wide at the top

Narrow at the middle

& 3~ Widest at the bottom

Jupiter Electronics Ltd. is known for its ability to come out with path-breaking
products. Though the work environment at Jupiters is relaxed and casual, yet, there is a
very strong commitment to deadlines. The employees believe in "work hard play hard"
ethic. The organisation has moved away from formal and hierarchical set up to a more
results-driven approach. Employees are committed to strategies and work towards
achieving them. They guard innovations, maintain confidentiality and secrecy in their
working. They are closely related fo values, practices, and norms of organisations

What aspects of an organization that are being discussed? Explain.
[RTP Nov. 19]

The scenario being referred to is culture in Jupiter Electronics. Strong culture
promotes good strategy execution when there's fit and impels execution when there's
negligible fit. A culture grounded in values, practices, and behavioral norms that match
what is needed for good strategy execution helps energize people throughout the
organization to do their jobs in a strategy-supportive manner. A culture built around
such business principles as listening to customers, encouraging employees to take pride
in their work, and giving employees a high degree of decision-making responsibility. This
is very conducive to successful execution of a strategy of delivering superior customer
service.

A strong strategy-supportive culture makes employees feel genuinely better about their
jobs and work environment and the merits of what the company is trying to accomplish.
Employees are stimulated to take on the challenge of realizing the organizational vision,
do their jobs competently and with enthusiasm, and collaborate with others.
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Davis and Lawrence have proposed three distinct phases to develop matrix structure.
Explain. [RTP Nov. 18]

For development of matrix structure; Davis and Lawrence have proposed three distinct
phases:

e  Cross-functional task forces: Temporary cross-functional task forces are initially
used when a new product line is being introduced. A project manager is in charge as
the key horizontal link.

e  Product/brand management: If the cross-functional task forces become more
permanent, the project manager becomes a product or brand manager and a second
phase begins. In this arrangement, function is still the primary organizational
structure, but product or brand managers act as the integrators of semi-
permanent products or brands.

e Mature matrix: The third and final phase of matrix development involves a true
dual- authority structure. Both the functional and product structures are
permanent. All employees are connected to both a vertical functional superior and
a horizontal product manager.

How can management communicate that it is committed fo creating a new culture
assuming that the old culture was problematic and not aligned with the company
strategy? [RTP May 21]

Corporate culture refers to company's values, beliefs, business principles, traditions, ways of
operating and internal work environment. Changing problem cultures is very difficult because
of deeply held values and habits. It takes concerted management action over a period of
time fo replace an unhealthy culture with a healthy culture or to root out certain unwanted
cultural obstacles and instil ones that are more strategy-supportive.

e  The first step is to diagnose which facets of the present culture are strategy
supportive and which are not.

e  Then, managers have to talk openly and forthrightly to all concerned about those
aspects of the culture that have to be changed.

e The talk has to be followed swiftly by visible, aggressive actions to modify the
culture-actions that everyone will understand are intended to establish a new
culture more in tune with the strategy.

Management through communication has to create a shared vision fo manage changes.
The menu of culture-changing actions includes revising policies and procedures, altering
incentive compensation, shifting budgetary allocations for substantial resources to new
strategy projects, recruiting and hiring new managers and employees, replacing key
executives, communication on need and benefit to employees and so on.
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What is a strategic business unit? What are its advantages? [RTP May 20]

A strategic business unit (SBU) is any part of a business organization which is treated
separately for strategic management purposes. The concept of SBU is helpful in
creating an SBU organizational structure. It is discrete element of the business serving
product markets with readily identifiable competitors and for which strategic planning
can be concluded. It is created by adding another level of management in a divisional
structure affer the divisions have been grouped under a divisional top management
authority based on the common strategic interests.

Advantages of SBU are:

e  Establishing coordination between divisions having common strategic interests.
e  Facilitates strategic management and control on large and diverse organizations.
e  Fixes accountabilities at the level of distinct business units.

e Allows strategic planning o be done at the most relevant level within the total
enterprise.

e  Makes the task of strategic review by fop executives more objective and more
effective.

e  Helps allocate corporate resources to areas with greatest growth opportunities.

Suresh Sinha has been recently appointed as the head of a strategic business unit of a
large multiproduct company. Advise Mr Sinha about the leadership role to be played by
him in execution of strategy. [RTP May 18]

Leading change has to start with diagnosing the situation and then deciding which of
several ways to handle it. Managers have five leadership roles to play in pushing for
good strategy execution:

(i) Staying on top of what is happening, closely monitoring progress, solving out issues,
and learning what obstacles lie in the path of good execution.

(ii) Promoting a culture of esprit de corps that mobilizes and energizes organizational
members to execute strategy in a competent fashion and perform at a high level.

(iii) Keeping the organization responsive to changing conditions, alert for new
opportunities, bubbling with innovative ideas, and ahead of rivals in developing
competitively valuable competencies and capabilities.

(iv) Exercising ethical leadership and insisting that the company conduct its affairs
like a model corporate citizen.

(v) Pushing corrective actions to improve strategy execution and overall strategic
performance.
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Discuss the leadership roles played by the managers in pushing for good strategy
execution. [May 19]

A manager as a strategic leader has many different leadership roles to play: visionary,
chief entrepreneur and strategist, chief administrator, culture builder, resource
acquirer and allocator, capabilities builder, process integrator, crisis solver,
spokesperson, negotiator, motivator, arbitrator, policy maker an so on. Managers have
five leadership roles to play in pushing for good strategy execution:

1. Staying on top of what is happening, closely monitoring progress, working through
issues and obstacles.

2. Promoting a culture that mobilizes and energizes organizational members to
execute strategy and perform at a high level.

3. Keeping the organization responsive to changing conditions, alert for new
opportunities and remain ahead of rivals in developing competitively valuable
competencies and capabilities.

4. Ethical leadership and insisting that the organization conduct its affairs like a
model corporate citizen.

5. Pushing corrective actions to improve strategy execution and overall strategic
performance.

Due to reoccurrence of various variants of Corona virus, LMN Ltd. is facing unstable
environment and it has started unbundling and disintegrating its activities. It also
started relying on outside vendors for performing these activities. Identify the
organisation structure LMN Ltd. is shifting fo. Under what circumstances this structure
becomes useful? [May 2022]

LMN Ltd. is shifting into network structure. It is a newer and somewhat more radical
organisational design. The network structure could be termed a "non-structure" as it
virtually eliminates in-house business functions and outsource many of them. An
organization organized in this manner is often called a virtual organization because it is
composed of a series of project groups or collaborations linked by constantly changing
non-hierarchical, cobweb-like networks.

The network structure becomes most useful when the environment of a firm is unstable
and is expected to remain so. Under such conditions, there is usually a strong need for
innovation and quick response. Instead of having salaried employees, it may contract
with people for a specific project or length of time. Long-term contracts with suppliers
and distributors replace services that the company could provide for itself through
vertical integration. The network structure provides organization with increased
flexibility and adaptability to cope with rapid technological change and shifting pattern
of international trade and competition.
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Connect Group was one of the leading makers of the mobile handsets till a few years ago
and which went at the bottom of the heap. Connect Group didn't adapt to the current
market trends which eventually lead to its downfall. Which would have helped Connect
Group to change, adapt and survive? Explain the steps to initiate the change.
[RTP Nov. 21]

Connect Group has to do strategic change for its survival. The changes in the
environmental forces often require businesses to make modifications in their existing
strategies and bring out new strategies. Strategic change is a complex process that
involves a corporate strategy focused on new markets, products, services and new ways
of doing business. Unless companies embrace change, they are likely o be freeze and
unless companies prepare to deal with sudden, unpredictable, discontinuous, and radical
change, they are likely to be extinct.

Three steps for initiating strategic change are:

(i) Recognise the need for change - The first step is to diagnose the which facets
of the present corporate culture are strategy supportive and which are not.

(ii) Create a shared vision to manage change - Objectives of both individuals and
organisation should coincide. There should be no conflict between them. This is
possible only if the management and the organisation members follow a shared vision.

(iii) Institutionalise the change - This is an action stage which requires the
implementation of the changed strategy. Creating and sustaining a different
attitude towards change is essential to ensure that the firm does not slip back into
old ways of doing things.

Q57. What is implementation control? Discuss its basic forms. [RTP Nov. 21]

ANS.

Managers implement strategy by converting major plans into concrete, sequential
actions that form incremental steps. Implementation control is directed towards
assessing the need for changes in the overall strategy in light of unfolding events and
results associated with incremental steps and actions.

Strategic implementation control is not a replacement to operational control. Strategic
implementation control, unlike operational controls continuously monitors the basic
direction of the strategy. The two basic forms of implementation control are:

(i) Monitoring strategic thrusts: Monitoring strategic thrusts help managers to
determine whether the overall strategy is progressing as desired or whether there
is need for readjustments.

(ii) Milestone Reviews. All key activities necessary to implement strategy are
segregated in terms of time, events or major resource allocation. It normally
involves a complete reassessment of the strategy. It also assesses the need to
continue or refocus the direction of an organization.
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Discuss three methods for reassigning new patterns of behavior as proposed by H.C.
Kellman. [RTP Nov. 20]

H.C. Kellman has proposed three methods for reassigning new patterns of behaviour.
These are compliance, identification and internalisation.

e  Compliance: It is achieved by strictly enforcing the reward and punishment
strategy for good or bad behaviour. Fear of punishment, actual punishment or
actual reward seems to change behaviour for the better.

e  Identification: Idenftification occurs when members are psychologically impressed
upon to identify themselves with some given role models whose behaviour they
would like to adopt and try to become like them.

e Internalization: Internalization involves some internal changing of the individual's
thought processes in order to adjust to a new environment. They have given
freedom to learn and adopt new behaviour in order to succeed in the new set of
circumstances.

Why is Strategic Control important for organizations? Discuss briefly 4 types of
strategic control that can be implemented to achieve the enterprise goals.
[RTP May 21]

Importance of strategic control: Strategic control is an important process that keeps
organisation on its desired path. It involves evaluating strategy as it is formulated and
implemented. It is directed towards identifying problems and changes in premises and
making necessary adjustments. Strategic control focuses on the dual questions of
whether: (1) the strategy is being implemented as planned; and (2) the results produced
by the strategy are those intended.

There are four types of strategic control:

e Premise control: A strategy is formed on the basis of certain assumptions or
premises about the environment. Premise control is a tool for systematic and
continuous monitoring of the environment to verify the validity and accuracy of the
premises on which the strategy has been built.

e  Strategic surveillance: Strategic surveillance is unfocussed. It involves general
monitoring of various sources of information to uncover unanticipated information
having a bearing on the organizational strategy.

e  Special alert control: At times, unexpected events may force organizations to
reconsider their strategy. Sudden changes in government, natural calamities,
unexpected merger/acquisition by competitors, industrial disasters and other such
events may frigger an immediate and intense review of strategy.
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Implementation control: Managers implement strategy by converting major plans
into concrete, sequential actions that form incremental steps. Implementation
control is directed towards assessing the need for changes in the overall strategy
in light of unfolding events and results.

Q60. Write a short note on strategic change and explain the process of strategic change.

[Nov. 18]

ANS. The changes in the environmental forces offen require businesses to make

modifications in their existing strategies and bring out new strategies. Strategic

change is a complex process that involves a corporate strategy focused on new markets,

products, services and new ways of doing business.

Three steps for initiating strategic change are:

()

(i)

(iii)

Recognise the need for change - The first step is to diagnose the which facets
of the present corporate culture are strategy supportive and which are not.

Create a shared vision to manage change - Objectives of both individuals and
organisation should coincide. There should be no conflict between them. This is
possible only if the management and the organisation members follow a shared vision.

Institutionalise the change - This is an action stage which requires the
implementation of the changed strategy. Creating and sustaining a different
attitude towards change is essential to ensure that the firm does not slip back into
old ways of doing things.

Kurt Lewin proposed three stages of the change process for moving the

organisation from the present to the future.

()

(i)

Unfreezing the situation - The process of unfreezing makes the individuals or
organisations aware of the necessity for change and prepares them for it. The
change should not come as a surprise to the members of the organisation. Sudden
and unannounced change would be socially destructive and morale lowering,

Changing to new situation - once unfreezing is complete and members of the
organisation recognize the need for change, then their behaviour patterns need to
be redefined as:

i.  Compliance - enforcing reward and punishment strategy for c good or bad
behaviour

ii.  Identification - members are psychologically impressed to identify themselves
with some given role models whose behaviour they would like to adopt.

iii. Internalisation - involves some internal changing of the individual's thought
process. They are given the freedom to learn and adopt new behaviour.

40




VIDHYODAY
N ————————

(iii) Refreezing - occurs when the new behaviour becomes a normal way of life. The new
behaviour must replace the former behaviour completely for successful and
permanent change. This can be achieved by continuously reinforcing the newly
acquired behaviour.

Change process is not a one-time application but a continuous process due to
dynamism and ever-changing environment.
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